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QUESTION 1

Filtering is an advanced feature that allows you to control which parts of a form are sent when asubmission occurs.
Which of the following INCORRECTLY describes filtering capabilities?

A. Filtering allows you to filter out all occurrences of an item type, such as all buttons or fields.

B. Filtering allows you to filter out all occurrences of aspecific property, such as all background colors or active settings.
C. Filtering allows you to filter out groups of items or datagroups.

D. Filtering is the easiest way to reduce the submitted form size.

Correct Answer: D

QUESTION 2

What is wrong in this code sample?

=¥formsmodels ¥mins=""=
zxforms.model=
<HIOrms:Instances
<pErson=
znamez</names
<afe=</aces=
<hirthdate:</hirthdate:>
=fperson=
sfsfurms.inslance =
<wforms:bind rodeset="age" type="xsd:integer'/=
<wforms:bind rodeset="hirthdste" type="xsd date"/=
<xforms: submission id="submitTest" method="post"
resource="htp faiew examp e.comicgi-bin/people”
includenamespaceprefixes=""=
wiforma model=
xforms:model=
<gaddress>
<street=<fstreet=
<oiby=</citvs
<state=</state=
<faddress:=
zffarms:model=
wHformsmodels=

A. There is nothing wrong with it.
B. There is no xforms:instance declaration within the second xforms:model.
C. There is more than one xforms:model declared; you cannot have more than one.

D. The address elements should never be separate from the person elements.
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Correct Answer: B

QUESTION 3

When printing a form, which of the following options can you define?
A. Headers and Footers

B. Headers only

C. Footers only

D. Neither Headersnor Footers

Correct Answer: A

QUESTION 4

Given the XForms Instance:

<wforms:instance [d="NSTAMNCE" xmins=""=
<fata=
zpookstore:

<book lang="en">
=title=Book1=title=
sauthor=Jane Doe=/author:
<price=9 99</price>

=/hook=

=hook lang="en">
«title=BookZ < tditle=
sauthor=5cott Tiger=/author=
=price=33.99</price=

=/hooks=

<hook lang="en"=>
=title=Book3=title=
<author=Joe Nobody</author=
sprive=63.00</price >

=/hook:=

=hook lang="fr"=
=title=L"aLrres/title:=
zauthor=Fierre Francois=fauthor:=
<price=338.00=/price=

=/hook:=

<fbookstores
zfdata=
<fformsinstances=

Which of the following is an absolute XPath query that will return all the book elements written in English?

A. bookstore/book[lang="en"]
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B. bookstore/book[@lang="en"]
C. instance(\'INSTANCE\\')/bookstore/book[lang="en"]
D. instance(\V\INSTANCE\\'")/bookstore/book[@lang="en"]

Correct Answer: D

QUESTION 5

Why is it a best practice to use "omit" logic rather than "keep" logic when creating a signaturethat signs only part of a
form?

A. It is less work for a forms designer to create signatures that use "keep" logic.

B. "Keep" logic can only be used with Clickwrap signatures, making it difficult to change to a different signature type if
required in future.

C. Using "omit" logic avoids the risk of creating too much overhead.
D. Using "omit" logic reduces the risk that form items will be unintentionally excluded from the signature.

Correct Answer: D

QUESTION 6

Minnie has a form with one traditional page and two wizard pages. She needs to provide a way for users to select either
the wizard interface, or the traditional interface to fill out this form. What is the recommendedway for her to easily make
fields required in both the wizard and traditional interfaces?

A. In order to make fields required, Minnie has to set their XFDL field property of "mandatory” to ON on both interfaces.

B. Once Minnie sets the appropriate fieldsas required on the wizard interface using the "mandatory” XFDL property,
they automatically become required on the traditional form page interface.

C. Minnie should use an xforms:bind to make the xforms:instance elements required.

D. Once Minnie marks theappropriate fields as required on the traditional interface using the "mandatory” XFDL
property, they automatically become required on the wizard interface.

Correct Answer: C

QUESTION 7

Which of the following list ALL the valid values for the method attribute of an xforms:submission?
A. PUSH, POST, GET, REMOVE

B. PUSH, POST, PULL, DELETE

C. PUT, POST, PULL, REMOVE
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D. PUT, POST, GET, DELETE

Correct Answer: D

QUESTION 8

Which of the following statements is NOT supported by the Attachment feature of IBM Forms?
A. Maximum filesize of attachment.

B. Capability to limit attachment to specific mimetype.

C. Multiple file attachments.

D. Capability to limit attachment to specific file extension.

Correct Answer: D

QUESTION 9

What is the default namespace prefix for an IBM Form?
A. xmlIns:xforms

B. xmins:default

C. xmlIns:custom

D. xmins:xfdl

Correct Answer: D

QUESTION 10

Which of the following objects are NOT supported for mapping when using the IBMForms - P8 Integrator?
A. Signature only

B. Image and Signature only

C. Array and Image only

D. Signature, Image, and Array

Correct Answer: D

QUESTION 11

David has added a new field to his form using relative positioning and had dragged it to a new location, but it does not
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appear when he tests it in either the Viewer or Webform Server. Why doesn\\'t the field appear during David\\'s tests?
A. David didn\\'t set an "offsetx" or "offsety" property.

B. Positioning a field "after" means it will appear on the next page.

C. David set the field to be positioned as "after" an item that doesn\\'t appear on the form.

D. The "offsetx" or "offsety" property is set so the field is now positioned off the viewing area in relation to the anchoring
form item.

Correct Answer: D

QUESTION 12

How many XForms models should bedeclared within a single XFDL form?
A. It shouldn\\'t contain any.

B. It should contain more than one.

C. It should contain as many as you need.

D. It should contain one and only one.

Correct Answer: C

QUESTION 13

You can modify the text and questions of the signature dialog for all of the following signature types EXCEPT which
one?

A. GenericRSA

B. Signature Pad

C. Authenticated Clickwrap
D. Clickwrap

Correct Answer: A

QUESTION 14

Which of the following completes the statement? The HTML content embedded inside an XFDL form ...
A. Can be printed when the HTML"printvisible" option is set to \\'on\\'.

B. Can be displayed at design time.

C. Is automatically saved inside the form when it is submitted.
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D. None of the above.

Correct Answer: D

QUESTION 15

Michael is using XForms. Which of the following does he need to define to togglethe visibility of a field based on the
value of another field in an XForms bind?

A. required
B. relevant
C. mandatory
D. visible

Correct Answer: B
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